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NERERAHEETE R
1 WMETTE
TR 5, F R U0 R, AR AR I 52 PR 15 B B AR A 2 ik
ATIIE . JEHOE B AR VA VR T I &, MR 3 0k, TH 3 RN = AE
TR AP 35348 5 o AL P 455 B G R 22
2 HaXPiRZE KA E BV E
DI E ) Img/L ARy AT RS HE R
2.1 MERMERERY
2.1.1  WEAEEAY
AC=Cc-cC
A Ac—ZEXF iR %,
C—— 3V B AE T, me/Ls

VP Vo VA
R

212 REBARHK

OAC OAC
Cl == 1 . C2 =
oc ’ ocC

=1

2.2 ANHE FERUE

IDYE T =4Ik GIDNEN Vel d

0) BRI I SE B, LR A v R A B8 2 FEE AR B 5 N BRI
EE
23 AR E BEVEE
231 X AR E IR SN HBRAEAS A E 1 u(c)

5038 7 5 00 5N PO BV A A o TS e 8 A B B DA L
Img/L FIFRAE R NS, R 10 7K, EFIMIESI % C.1 iR,

FC1 1 mg/L FrEdE i a I EAE

G

1.03 1.05 0.96 0.94 0.98 0.95 1.06 1.02 1.07 1.04
(mg/L)

Zc
n
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AR
- n-1

SEFRER, PLUEZE 3 AN E R IEE I E S B, 0 E I 5
N HIFRAEAN 2 BN

=0.048 mg/L

ulc)= % =0.028 mg/L

B HE TGN E LN E RN E S A ELR 02—, W2
W T

2.3.2  FRUEEIR G N PIAREAHG 2 B u(c,)
2.3.2.1 HiFFRAEVT B NRIAHR FR AT E U, (cy)

AUEARE S B A AT 2 B AR B e, da=1% WEET =2, HH
XS R AEANEA € LN

ureI (Csl) = % =0.5%
2.3.2.2 B R SINHARK AR AN 1 B U, (cy, )

FH 2 mL A Z AR 26 IR B X 2 mL Ky 1000 mo/L 98 T AR AEDY)
Jfi%E 100 mLA &M, H4iKemEZ1%, 35 20 mg/L BIbsHEER .
FI 5 mLAZLEFRZ N B LS mL _FIRIKE Dy 20 mo/L ¥ 4B 1A ARV 2 100
mLA EREMY, HAUKERZEZIZ%, 53] 1 mg/L FIFR R .

23221 SAREIRE B NBIHIRHPRHEARTE L Uy (V) Uy (V)

2 mL A ZFRINCE B i K Fe PR 2209 £0.010 mL, By SI 0 A, HAHXS
PRAEATE LN

V) =222 _ 0.29%

2><\/§
5mLA ZHbREEIRE i K ViR 2 +0.015 mL, B2 Ah, HARN
FRIEAH E N

Uy (V) = 0015 _ 0.17%

5><\/§
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2.3.2.2.2 FEMII NI FRAEATE E U, (V)

100 mL A FAEEM R AL FRZENT0.10 mL, HEIE 04, HARGFR
AW EREN

0.10

—0.058%
100x+/3

Usyel V)=

2.3.2.2.3  MRBEIEE WD 51N IR XS BREAH E B vy, (V)

FERSAE 25 Th ZIRAE £ 2°C NS, B A 51 NI ANE E [ 7T 38
i i B ARG B AR RN R BCHEAT TR VAR AR AR A IR B S KT BN
WS AR, R 5 RT3 KRR R AN 2.1 X 10 C, B
S)or AT, REEARAG T N BRI AR AN 2 BE A

-4
Uy V) = 2280 X2 _ g 09404

J3
2.3.2.2.4  FREFE 51N PR ARIEAS B 52 P U,y (cy, )
P FE FP RSV % e 2 SL R MEDU IR, 100 mL A ZeS s LW Ik, Wk
BT 51N I AH XS BR AN 5 FE A
Uy (Cop ) =AU 2OV ) + Uy 2V ) + Uy 2V ) X 2+ Uy (V) x 4 = 0.35%

2.3.2.25 ARAEIREI N PIRRHEAH E FE u(c,)

1 mg/L AR THE I R PRI P A AL R AR R AR TEE AN 2 FE R
ureI (Cs ) = \/urelz(csl) + Ure|2(C52) :061%

FARAEAT E 2R

u(c, )= 0.61%x1=0.006 mg/L

2.4 B bR HEASHE E
2.4.1 bREEAHEEEIL A
*£C2 HBAERMMEAEEICAER

ANHA 72 BRI (%) u(x) C lc [u(x)

s B I 0.028 mg/L 1 0.028 mg/L

FRAETR R 0.006 mg/L -1 0.006 mg/L
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242 ERARHEAT TR
K C2 B ETIAFR, NEMPEAERE N

(Ac)= \/[cu ] +[c,ulc, )] =0.029 mgiL

25 ¥V RERAWIEE
BUALE R T A=2, T Img/L & S 8 B AR E E A

U =ku,(Ac) =0.06 mg/L

zi b, Img/L P& s EAE A 1.01 mg/L, Z65%F1R24 0.00mg/L, § EASH
SERENU =0.06 mg/L (k=2).
3 MEXF R ZE AN T BEVEE
DAXEAEFH 20 mg/L ARAEE AT B HE A o
31 MEREME RERE
311 MERA

c—
C

AC, =

r

xlOO% = (— —1j x100%
C

S S

A Ac,—AHXTIRZE
312 REAEM
_dAc, 1 _dAc,

3.2 AHiE R
AT 5E BERIEF] C.2.2,
33 PrdEAE IV E
330 (AR ST 3 A (KR ASHA 5 FE u(c)
3% B I 5N AR AEA I € BEVE € IR C.2.3.1. 4% 20 mo/L hrif
W N, EZE 10 &k, F2&ESc, (ng/L): 20.43685. 20.75612.

21.03452,19.88365.19.72183.20.46457.,20.56082.21.03515.20.49768.19.83524.,
2.C
c. =2 =20.42264 mg/L
n
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ulc)= % =0.273 mg/L

SR H TGN E DT EEMESI AN EL 0z —, W2
W T

332 KRS NHURRAE AT u(c,)
3.32.1 HIEARHEYFE 5 NI PR AEARTEE U, (cy)

HUEFRHEY) R 1 (A E E ] C.2.3.2.1: u(cy)=05%.
3.3.2.2  FRRERLFR 51N AN AR AHEASHA 52 B Uy (c,,)

FI 2 mL A 2% bR 2 W 8 B Y 2 mL Y5y 1000 mg/L 980 T TIEARHEY)
Jii % 100 mLA A EMS, HAUKERZEZIZL, 193] 20 mg/L HIFRAEE TR
33221 HAREMRE GINAN AR A E FE Uy, (V)

2 mL A L ERBRENE B AR FR AN 5E B2 [F) C.2.3.2.2.1: Uy, (V) = 0.29%
3.3.22.2 FEEMIINPIA X FRAEAH E B u,,., (V)

100 mL A e S AR R AN € B2 [F] C.2.3.2.2.2: U, (V) =0.058% -
3.3.2.2.3  FABTIE R BTN PIA X FRAEASH E B ug,, (V)

TR BEARA 5N B AR R HEANH 72 BE[A] C.2.3.2.2.3: Uy, (V) =0.024%
3.3.2.2.4 FRFEFE G NI AR AN § 5E BE U, ()

MBI R P M A e B FLERAE IR, BRI A2 5N BRI A AN 72 B

Uy (Cop ) = AUy 2 (V) + Uy 2 (V) Uy S (V) x 2 =0.30%
3.3.2.25 ARAERE LI NBIRHEATHE B u(c,)
20 mg/L BRI R TR FE AR HEAR A O FR AN 5 FE N
Up (€)= U2 (Cyy) + U (C.,) =0.58%

FARAEAHA E N

u(c, )=0.58%x 20 = 0.116 mg/L
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3.4 EbREAEEE
3.4.1  FRUEAE LA
#£ C3 B EMIAREARTE ISR

AR5 FEE (X,) u(x,) c, ¢ [u(x)
XA R EES M 0.273 mg/L 0.050 (mg/L)™* 0.014
R GRS 0.116 mg/L -0.051 (mg/L)™* 0.006

3.4.2 HINFREAHE

u,(Ac, )= \/ [clu((_:)]2 +[c,u(c,)f =1.5%

35 PRAMEE
U =ku (Ac,) =3% (k=2)

z b, 20 mg/L & 25 &l Ol 20.42264 mg/L, FHXHRZE AN 2.1%, §EA
e E AU =3% (k=2),



